97940 JE;BWE #HEARFS DIN 71412

7= miiEA

M
W AEEMN 1.4305,

WA
MEl , FL , EA 550 HV 1, B,
T8N , =,

B
B BIEERAHT (EHR ) B8, IHBLCERTHANRE TR
HITEBHEBMNE. RAGAARSZH , XNBYS ZHESRT R

HBRRWERE L,
® © ©) -A ®
%50 50
1=
~A a %
_ [P
g ‘ 2 W W . r
~ : NN == ; a
1 s s ] = [0 5
ij
o0 1 0 D D
97940-1106100 A BA  HAA EE - M6X1 16 6 7
97940-1108100 A BEE  BAA ik - M8X1 16 6 9
97940-1108125 A EEINE -] W - M8X1,25 16 6 9
97940-1110100 A BEE  #AA W - M10X1 16 6 1
97940-1110150 A BER , #HAA M - M10X1,5 16 6 1
97940-1118 A BEE  &RA W - R1/8 16 6 11
97940-1114 A BEX  &RA ik - R1/4 16 6 14
97940-2106100 A BR  &AA TEN - M6X1 16 6 7
97940-2108100 A BR  BAA TEW - M8X1 16 6 9
97940-2108125 A BEE  #BAA THN - M8X1,25 16 6 9
97940-2110100 A BEE  &FRA TEW - M10X1 16 6 11
97940-2110150 A EXE  &RA THEMN - M10X1,5 16 6 11
97940-2118 A BR  #wAA TEN - R1/8 16 6 11
97940-2114 A BR | BAA TEW - R1/4 16 6 14
97940-1206100 B 45 RN , FAA k] 10,5 M6X1 23 5,5 9
97940-1208100 B 45 BRIK , HAH W 10,5 M8X1 23 5,5 9
97940-1208125 B 45 AR, HAA W 10,5 M8X1,25 23 5,5 9
97940-1210100 B 45 AR, HAA W 11,5 M10X1 23 55 | 11
97940-1210150 B 45 BRIK , HAA ] 11,5 M10X1,5 23 55 | 11
97940-1218 B 45 RN , FAA k] 11,5 R1/8 23 55 | 11
97940-1214 B 45 BRIK , FAA W 12 R1/4 23 55 | 14
97940-2206100 B 45 RN, HAA THEN | 105 M6X1 23 5,5 9
97940-2208100 B 45 FARIR |, HAA THR | 105 M8X1 23 5,5 9
97940-2208125 B 45 BRIK , HAA THW | 105 M8X1,25 23 5,5 9
97940-2210100 B 45 RN, HAA THER | 115 M10X1 23 55 | 11
97940-2210150 B 45 BRIK , FAA THH | 115 M10X1,5 23 55 | 11
97940-2218 B 45 RN, HAA THEN | 115 R1/8 23 55 | 11
97940-2214 B 45 RN , HAA THR 12 R1/4 23 55 | 14
97940-1306100 C 90 HIRIR , HAA ] 13 M6X1 18 5,5 9
97940-1308100 C 90 HRIR , T AA W 13 M8X1 18 5,5 9

© norelem www.norelem.com



97940 JE;BWE #HEARFS DIN 71412

97940-1308125 C 90 MR , HAA Ml 12 M8X1,25 18 55 9
97940-1310100 C 90 MK , HARA Wl 14 M10X1 18 55 11
97940-1310150 C 90 MR , HAA L] 14 M10X1,5 18 55 1"

97940-1318 C 90 MR , HAA GED 14 R1/8 18 55 11

97940-1314 C 90 MR , HAA M 14 R1/4 22 6 14
97940-2306100 C 90 MFR , HAA M 13 M6X1 18 55 9
97940-2308100 C 90 MK , HARA T 13 M8X1 18 55 9
97940-2308125 C 90 MR , HAA S 13 M8X1,25 18 55 9
97940-2310100 C 90 MR , HAA TN 14 M10X1 18 55 1"
97940-2310150 C 90 MR , HAA W 14 M10X1,5 20 55 11

97940-2318 C 90 MR , HAA M 14 R1/8 18 55 1"

97940-2314 C 90 MK , HARA BN 14 R1/4 22 6 14
97940-1406100 D 45 HRlR , WHE R 10,5 M6X1 20,5 55 9
97940-1408100 D 45 MM , wHE W 10,5 M8X1 20,5 55 9
97940-1408125 D 45 @R |, wHEE M 10,5 M8X1,25 20,5 55 9
97940-1410100 D 45 HRIR , WHE ] 11 M10X1 20,5 55 1"

97940-1418 D 45 @R |, WHEE EED 11 R1/8 20,5 55 11
97940-1506100 E 90 MR , WHH R 14 M6X1 18 55 9
97940-1508100 E 90 MM , HHF W 14 M8X1 18 55 9
97940-1508125 E 90 M=K , HHE E B 14 M8X1,25 18 55 9
97940-1510100 E 90 MR |, WHH M 15 M10X1 18 55 1"

97940-1518 E 90 M=K , HHE EED 15 R1/8 18 55 11

© norelem www.norelem.com



